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ON LIRE

TU VOIR

ON AIMER

TU ETRE

ON SKIER
VOUS LIRE

TU OUVRIR
VOUS FINIR

ON MARCHER
ELLES LIRE
VOUS TAIRE
NOUS VALOIR
NOUS BATTRE
VOUS VOULOIR
ON PREFERER
ELLES CRAINDRE
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TU RIRE
ON ETRE

ON AVOIR

TU AVOIR

TU LAVER

VOUS RIRE

NOUS VIVRE
VOUS ETRE

NOUS LAVER
ELLES VOIR
NOUS AVOIR
NOUS CROIRE
NOUS VENDRE
VOUS ECRIRE
ELLES ENTENDRE
TU INTERROMPRE
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L'Imparfait (all verbs)
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TU LIRE
TU JOUER

TU AIMER

TU BOIRE

TU SKIER

VOUS VOIR

TU VOULOIR
VOUS AIMER
NOUS ETRE

TU POUVOIR
ELLES TAIRE
NOUS OUVRIR
VOUS OUVRIR
VOUS CHANTER
NOUS DETESTER
ELLES DESOBEIR
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